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Quiz 8 (20 points) 




November 14, 2006
All work must be shown to receive credit.

R = 0.0821 L atm/mol K = 62.4 L torr/mol K = 8.31 J/mol K
1. (8 points) A 1.37 M solution of citric acid (H3C6H5O7) in water has a density of 1.10 g/mL.  Calculate the mass percent and molality of the solution.
2. (12 points) Nitric acid has a vapor pressure of 47.9 torr at 20oC and 208 torr at 50oC.  What is the normal boiling point of Nitric acid?  (Hint:  Use the data to determine the heat of vaporization of Nitric acid and then use that heat of vaporization with one set of data to determine the normal boiling point.  That means you get to do the Clausius Clapeyron equation twice – lucky you!)
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